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PR ELEVACIÓN 508 m
COORDENADAS UTM ED-50
x=    522.607,0 m
y= 4.748.048,9 m

PUNTO DE REFERENCIA 

Huso 30

PTE 10%
H = 536m
NDB/L VT

SUPERFICIE HORIZONTALINTERNA
ELEVACIÓN 553m.

SUPERFICIE HORIZONTAL
INTERNA

ELEVACIÓN 553m.
PTE 2%
H = 552 m
GONIO TWR

PTE 5%
H = 552m
E-R-VHF-UHF TWR

PTE 5%
H = 523m
E-R-VHF-UHF C EMIS

PTE 2%
H = 513m
LLZ VTO

PTE 3%
H = 513m
VOR VFD

PTE 3%
H = 513m
DME VFD

PTE 3%
H = 512m
DME VTO

X = 517.222,38 

Z = 810,00 

OBSTÁCULO APROXIMACION_04

Y = 4.737.849,66 

PTE 2%
H = 502m
GP VTO
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PTE 0,1%
H = 552 m
HERTZ

TRAMO HORIZONTAL 
APROXIMACIÓN 04
ELEVAC IÓN 825 m.
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